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RIRMEIETZ AM1—P3 5t & £ i
=

T & g # =
BRERET
AstlBr t=5cm 857 m
L= 857 = 8570 m
SHEEWET  t=5cm 6213 m2
A1-P1 725 x 2855 = 206.99
P1-P2 725 x 2860 = 207.35
P2-P3 725 X 2855 = 206.99
62133 m2
AsFHER 311 m3
V= 6213 x 005 = 3107 m3
Asfil oy 7153 t

W= 31.1 X 2.30 = 7153 t




FRER#EIET A1—P3 5t & = 2-1
T i g =® i =
TE@HET
KRR ("9 —2—T k) (D F149t=70mm 621.3 m2
725 X 8570 = 62133 m2
PRHRERY) 3L 34 m3
BRAREt=190mm - BFRAR_EEITHZ Et=70mm = 120mm
Ex&Y = 2811 m2
2811  x 012 = 337 m3
CoriEiflk 469 m3
V= 62133 x 0070 + 2811 x 0.120 = 4687 m3
iR 21 —M TR (BB 4THLZ)
WA YREa2 o) —k 3091 m3
R AITEZEE
& (m) HER(m) EE(m2)
1.00 1.00 1.00
1.70 2.00 3.40
1.00 1.00 1.00
1.60 2.80 4.48
1.60 2.80 4.48
0.60 0.70 0.42
1.00 1.00 1.00
1.00 1.50 1.50
0.40 0.60 0.24
0.50 2.70 1.35
1.50 1.50 2.25
0.90 0.50 0.45
1.20 3.50 4.20
1.30 1.80 2.34
&5t 28.11

WHAYR®RIL D) —MATE LEITH]RAERS
t= 190 - 80 = 110mm
v= 281 x 0110 = 3091 m3
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FRhRa>91)—h3TE% (EmEiTH#Z)
A YRR 91—k~ t=80mm 49704 m3
725 x 8570 = 621.33 m2
A YRS —MMAFE t=80mm
V= 6213 x 0.080 = 49704 m3
i e 281 m2
BT A B@EmELY A= 2811 m2
=EHRET 300g/m2 5932 m?2
BEERERMRaV Y —MRE S BMEBER (T A(BTFIDLR)
725 x 8570 - 28.11 = 59322 m2
RERETL  200g/m2 6213 m2
WEaV ) —MRE  ERMEBERTABIRNIDLR)
725 x 8570 = 62133 m2
fHiasker RE&EY  SD345 D13 496 kg
= 496 kg
B Sk mhbhER M B 4119 m2

BEAm D19 @140mm(BR HEH)
BEEAAR D19 @250mm(EFH)

1m2247=4)
BEAHE 7.1m A=0.019x3.14x 7.1 = 0.424
£ 5 40m A=0.019x3.14%x4.0 = 0.239
H = 0663 m2

A1=7.25x%85.7 X 0.663 = 41194 m2




IRiRFE{ET A1-P3 5t &H 2= 7
g =® o =

(HEIIUNTITEREE)
HyiEL 315
( 0286 + 0272 )/2x 1300 = 0.360
V= 0360 X 87.62 = 3154 m3
BERIOvIEE L=87.0m 5.2
( 0180 + 0205 )/2x 0302 = 0.060
V= 0060 X 87.00 = 522 m3 87.0
ComiZE ik 36.8
V= 31540 + 5220 = 3676 m3
Cofll 5y 86.39

W= 36.760 X 2.35 = 8639 t




EIHREET A1-P3 =R _
T g # =
BB AR H)—k
8762 x 007 (H@E&LY) = 6.133 m3 6.133 m3
ZEIRRAK
8762 x 120 = 10514 m2 1051 m2
BRIOVIITER av9')—b(24-8-25H)  L=87.6m 8.149 m3
0.30 X 0.31 = 0.093
V= 0093 x 87.620 = 8149 m3
533
D13 63  kg/10x 87.62 = 55201 ke 552 kg
b eg 535 m2
( 0300 + 0310 )X 8762 = 5345 m2
EEER = 0.090 m2
5354 m2
FEREI(EEMER) TABFLIDLZR 300g/m2
8762 x 120 = 10514 m2 105.1 m2
FEGRET (EEMER) TABFNIVLR 200g/m?2
8762 x 1.20 = 10514 m2 105.1 m2
FEREL (S53MEM) D ME SEEERI I 64.0 m2
8762 x 0.73 = 6396 m2
(0.25+0.30+0.18) = 0.73




RIRFEIELT A1—P3

E|I|_
i
Il

T e g =X 0 =
BEKT

BERK 621.3 m2

A1-P1 725 x 2855 = 206.99

P1-P2 725 X 2860 = 207.35

P2-P3 725 X 2855 = 206.99

62133  m2
BKE (Pp18) imEpULIBMEEL 836 m

A1-P3 L= 8360 m




WET A1—P3 &t

11-1
T e g =X 0 =
HET
Rz B #h#t (t=5cm) 2653 m
A1-P3 836 X 3 BEh A = 25080 m
A1-P3 725 x 2 BEAAR = 1450 m
REI(HE) RYY—REME-W  t=6cm 6213 m2
A1-P1 725 x 2855 = 206.99
Pi1-P2 725 x 2860 = 207.35
P2-P3 725 X 2855 = 206.99
62133  m2
REBI (FHHE) RYv—kE I B2 H(13F) t=3cm 1051 m2
8760 x 120 105.12 m2
XE#HT
iR 836 m
L= 836 = 8360 m
AN 1672 m

L= 836 X 2

= 16720 m




A1—P3RET & &H = 12-1
T e g =X 0 =
HET
R&H%E (B3E) t=5cm 1314 m2
87620 x 150 = 13143 m2
{REHLE (538) % t=5cm 1314 m2
8760 x 150 = 13140 m2
BOE FAI7ILE 6.6 m3
V= 1314 x 005 = 657 m3
a5y FAI7ILE 1518 t
W= 66 x 230 = 1518 t
Bi5T
mYRISET
60.8 x 3.1 = 18848 m2 2590 m2
5.0 X 47 X 3 kEg = 7050 m2
5.0 x 47 x 3 kFF = 7050 m2 705 m2
FEEET
608 x 23 = 13984 m2 139.8 m2
XRIT
60.8 X 23 X 16 = 223.74 #m3 223.7 #m3
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